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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 500 4.6 0.8 5 91.2 99.8
2(a) 486 2.4 1.5 4 60.4 97
2(b) 501 5.4 1.6 7 77.2 100
2(c) 495 3 1.3 5 59.5 98.8
3 479 2.4 0.9 3 79.9 95.6
4(a)(b) 480 1.1 0.7 2 55.4 95.8
4(c)(d) 454 33 2.5 8 41.4 90.6
4(e) 486 6.6 2.4 9 73.4 97
5 467 1.4 1.1 3 46.5 93.2
6 476 3.5 34 9 39.4 95
7 484 4.6 2.1 6 77.3 96.6
8 487 3.5 1.6 6 58.4 97.2
9 483 3.1 2.1 6 51.3 96.4
10 397 0.6 0.6 2 29.1 79.2
11 444 1 1.4 5 19.5 88.6
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(c) Owen and Nia need to know the total area of the floor covered by the units against the
wall and the free-standing centre island.
Calculate this area.
State the units of your answer. [5]

(d)  The free-standing centre island requires an edging strip to go around the outside.
The edging strips can be bought in rolls of length 2m, 5m, 10m or 50 m.
The cost per metre is the same for each roll.
Which length of roll would be the best option for Owen and Nia to buy?

Show all your working and give a reason for your answer. [3]
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Examiner
(¢) Owen and Nia need to know the total area of the floor covered by the units against the .
wall and the free-standing centre island.
Calculate this area.
State the units of your answer. [5]

1000x.1200:2 1200000 man

1100000, 1650000 = 2420000 pmpy
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(d) The free-standing centre island requires an edging strip to go around the outside.
The edging strips can be bought in rolls of length2m, 5m, 10m or 50 m.
The cost per metre is the same for each roll.
Which length of roll would be the best option for Owen and Nia to buy?

Show all your working and give a reason for your answer. [3] W2
1200 41000 + (000 + 100 = Y4400 ma
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Applications Unit 2 Mark Comment
Foundation Tier June 2015

4. (c) 2800 = 600 (mm) and 1200 = 1000 {mm) M2 Award M1 for either. Accept appropriate

Or 280 » 60 {cm) and 120 = 100 (cm) measurements changed to cm or m. Any attempt to

Or28x06{m)and 1.2 x 1 (m) change units must be done consistently for each M
mark.

1 680 000 or 1 200 000 (mm?) Al Accept appropriate measurements changed to em®
OR 16 800 or 12 000 (em?) or m*
OR 1.68 or 1.2 (m?
2 880 000 (mm?) or 28 800 (cm?) or 2.88 (m?) Al | Allow 3000000 (mm?) or 30000 (cm?) or 3 (n1)
Or 2 900 000 (mmr®) or 29 000 (em?) or 2.9 (m?) from correct working
Correct units for their calculations Ul Units given must match the correct numerical

value

(d) (Perimeter =) 1200 = 2+ 1000 = 2 M1 Or equivalent. Any attempt to change units must
be done consistently for M mark.

4400 {mm) Or equivalent Al CAO

5m roll selected and reason given eg best option for El FT their derived perimeter.

Owen is to buy 5Sm roll {as this is 5000mm) which is

just over what he needs.

8











Examiner
|
(c) Owen and Nia need to know the total area of the floor cd by the units against the o
wall and the free-standing centre island. @
Calculate this area.
State the units of your answer. [5]
" O— I
............................................................................................................................................................................................................ {:-':
.................................................. (:l ¢
(d)  The free-standing centre island requires an edging strip to go around the outside.
The edging strips can be bought in rolls of length 2m, 5m, 10m or 50 m.
The cost per metre is the same for each roll.
Which length of roll would be the best option for Owen and Nia to buy?
Show all your working and give a reason for your answer. [3] W2
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Sticky Note

Confusion between perimeter and area is a very common misconception by candidates at the Foundation Tier. Here the candidate has an idea that they need to calculate using the length and width but have added the 2 values instead of multiplying them.



Sticky Note

The candidate has not calculated the perimeter of the free-standing unit to show all workings for their answer.










(¢) Owen and Nia need to know the total area of the floor covered by the units against the

wall and the free-standing centre island.
Calculate this area.
State the units of your answer. [5]

600.X2900..2.. 1650000 sam
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1000x1200: 1200000 man
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(d) The free-standing centre island requires an edging strip to go around the outside.
The edging strips can be bought in rolls of length 2m, 5m, 10m or 50 m.
The cost per metre is the same for each roll.

Which length of roll would be the best option for Owen and Nia to buy?
Show all your working and give a reason for your answer. [3]
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Sticky Note

This candidate has correctly worked at the total area of the floor covered by the units but has not used the correct unit in their answer.



Sticky Note

The candidate has calculated the perimeter correctly but has not converted the units of mm to m correctly in their answer. This has meant that the interpretation of the length of edging strips needed is not correct.
















(c) Owen and Nia need to know the total area of the floor covered by the units against the
wall and the free-standing centre island.
Calculate this area.
State the units of your answer. [5]

(d) The free-standing centre island requires an edging strip to go around the outside.
The edging strips can be bought in rolls of length 2m, 5m, 10m or 50 m.
The cost per metre is the same for each roll.
Which length of roll would be the best option for Owen and Nia to buy?
Show all your working and give a reason for your answer. [3]
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(e) You will be assessed on the quality of your w. .cauion in this part of the
question.

Owen and Nia look into buying their kitchen.
They need to buy:
o kitchen cabinets and worktops for £3200,
« electrical goods for £2649,
« sink and drainer for £250.

A local kitchen fitter charges £1200 but can offer them a discount of 10% for his work.
An electrician charges £600. -

A plumber has a £40 call out fee and then charges £25 per hour.

The plumber needs 2 hours to complete his work.

A large kitchen company says they charge £8000 for everything including fitting.
Should Owen and Nia choos large kitchen company to fit their kitchen?

Give a reason for your answer.
You must show all your working. [9]
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Sticky Note

This candidate has not calculated the discount that the kitchen fitter could offer Owen and Nia. In fact no 10% has been calculated within the question. The candidate has labeled their calculations clearly, setting out their mathematics using correct notation.
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Exami

(e) You will be assessed on the quality of your written communication in this part of the °n

question.

Owen and Nia look into buying their kitchen.
They need to buy:
» kitchen cabinets and worktops for £3200,
* electrical goods for £2649,
* sink and drainer for £250.

A local kitchen fitter charges £1200 but can offer them a discount of 10% for his work.
An electrician charges £600.

A plumber has a £40 call out fee and then charges £25 per hour.

The plumber needs 2 hours to complete his work.

A large kitchen company says they charge £8000 for everything including fitting.

Should Owen and Nia choose the large kitchen company to fit thﬁtchen?

Give a reason for your answer.
You must show all your working. [9]
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Sticky Note

This candidate has correctly worked out nearly all parts of this question, except they have not calculated the total costs for the kitchen being fitted by individual workers. The candidate has not added in the total amount initially spent on the kitchen.
















4.(e) (Total cost of kitchen items) 3200 + 2649 + 250
(= (£)6099)
(Kitchen fitter charges) 1200 — 10/100 = 1200
(£)1080

(Plumber’s costs) 40 + 2 x 25

(£)90
(Total costs 6099 + 1080 + 600 + 90 =) (£)7869
No with a valid reason given based on costs OR yes
with a valid reason about using just one company and
the cost being slightly more expensive

Look for
e spelling
¢ clarity of labels
e the use of notation (watch for the use =" “£”
being appropriate)

¢ 0 consistently missing

QWC2: Candidates will be expected to
e present work clearly, with words explaining
progcess or steps
AND
¢ make few if any mistakes in mathematical
form, spelling, punctuation and grammar in
their answer

QWCI: Candidates will be expected to
e present work clearly, with words explaining
process or steps
OR
¢ make few if any mistakes in mathematical
form, spelling, punctuation and grammar in
their final answer

51
M1
M1

Al
Bl

w0 EO

Attempt to add at least 3 costs
Full method required
This M1 Al may be implied in further working

FT “their 1080 + “their 907 + 600 + 6099

FT their total costs. Eg “No as it costs less than

£80007.

Award E1 if their costs slightly >£8000 but still

choose to answer no with reason given based on
using local company.

QWC?2 Presents relevant material in a coherent and
logical manner, using acceptable mathematical
form, and with few if any errors in spelling,
punctuation and grammar.

QWC] Presents relevant material in a coherent and
logical manner but with some errors in use of
mathematical form, spelling, punctuation or
grammar

OR

evident weaknesses in organisation of material but
using acceptable mathematical form, with few if
any errors in spelling, punctuation and grammar.

QWCO Evident weaknesses in orgamsation of
material, and errors in use
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Examine
|
(e) You will be assessed on the quality of your w. .oaton in this part of the e

question.

Owen and Nia look into buying their kitchen.
They need to buy:
«  kitchen cabinets and worktops for £3200,
« electrical goods for £2649,
« sink and drainer for £250.

A local kitchen fitter charges £1200 but can offer them a discount of 10% for his work.
An electrician charges £600.

A plumber has a £40 call out fee and then charges £25 per hour.

The plumber needs 2 hours to complete his work.

A large kitchen company says they charge £8000 for everything including fitting.
Should Owen and Nia choose the large kitchen company to fit their kitchen?

Give a reason for your answer.
You must show all your working. [9]
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(e) You will be assessed on the quality of your written communication in this part of the
question.

Owen and Nia look into buying their kitchen.
They need to buy:
» kitchen cabinets and worktops for £3200,
* electrical goods for £2649,
» sink and drainer for £250.

A local kitchen fitter charges £1200 but can offer them a discount of 10% for his work.
An electrician charges £600.

A plumber has a £40 call out fee and then charges £25 per hour.

The plumber needs 2 hours to complete his work.

A large kitchen company says they charge £8000 for everything including fitting.

Should Owen and Nia choose the large kitchen company to fit their kitchen?

Give a reason for your answer.
You must show all your working. [9]
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(e) You will be assessed on the quality of your written communication in this part of the
question.

Owen and Nia look into buying their kitchen.
They need to buy:
e kitchen cabinets and worktops for £3200,
* electrical goods for £2649,
* sink and drainer for £250.
A local kitchen fitter charges £1200 but can offer them a discount of 10% for his work.
An electrician charges £600.
A plumber has a £40 call out fee and then charges £25 per hour.
The plumber needs 2 hours to complete his work.
A large kitchen company says they charge £8000 for everything including fitting.
Should Owen and Nia choose the large kitchen company to fit their kitchen?

Give a reason for your answer.
You must show all your working. [9]
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5. A numeracy test is marked out of 40.
The marks for a class of 24 pupils are shown below.

1 24 25 31 9 17 27 23

39 18 27 8 34 25 21 15

36 12 12 7 40 22 3 19
(@) Represent the marks for the class in a stem and leaf diagram.

1

TWW [ [ =]

Circle your answer.

19-11=8 40-9=31

©WJEC CBAC Ltd. (4362-01)
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5.

1

A numeracy test is marked out of 40.
The marks for a class of 24 pupils are shown below.

1 24 35 31 9 17 27
39 18 27 5 34 25 21
36 12 12 7 40 22 3

(@) Represent the marks for the class in a stem and leaf diagram.

.—a\

SV ¢ NP —S WEN
N = JVF oy =L W ilda -npTic

2

7
4

-

-
i
1

&
2z
z
0|1
|0
&3
4'9

(b) Which of the following shows how to calculate the range of the numeracy test marks?

Circle your answer.

19-11=8 40 - 9 = 31
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Examiner
5. A numeracy test is marked out of 40. =
The marks for a class of 24 pupils are shown below.
" 248 35 3T & A T 23"
M 2T 5 3 25 A a5
(@) Represent the marks for the class in a stem and leaf diagram. [2]
L(— ) 7‘ QO 5/1/ ‘1519‘
Lol O,
(b)  Which of the following shows how to calculate the range of the numeracy test marks?
Circle your answer. _ [1]
19-11=8 40 -9 = 31 40_:3:37\\ 40-24=16
3
© WJEC CBAC Ltd, (4362-01) Turn over.











54(a) 043579 B2 For B2 allow 4]0
1§1225789 3114569
201234577 2011234577
314569 111225789
M0 003579

Award Bl for an ordered stem with no more than 2
&ITors

Award SC1 for a correct stem and leaf diagram but
not ordered.
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Examiner
5. A numeracy test is marked out of 40. .
The marks for a class of 24 pupils are shown below. @
1 24 35 31 9 17 27 23
39 18 27 5 34 25 21 18
36 12 12 7 40 22 3 19
(@) Represent the marks for the class in a stem and leaf diagram. [2]
w ‘ | ‘ f
‘ | h
B-lg|tl- Lo | 21-30]| 51*@0
WA [ | e
Tolalz, &4 | -/( el 3 & =2 DU

S S, S ———

Circle your answer.

19-11=8 40-9=31

©® WJEC CBAC Ltd. (4362-01) Turn over.




Sticky Note

The candidate does not know how to set up a stem and leaf diagram. They have represented the information in a grouped frequency table using tallies. Confusion between all statistical tables and graphs is quite common amongst candidates.










5.

1

A numeracy test is marked out of 40.
The marks for a class of 24 pupils are shown below.

1 24 35 31 9 17 27
39 18 27 5 34 25 21
36 12 12 7 40 22 3

(@) Represent the marks for the class in a stem and leaf diagram.

._¢\
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(b) Which of the following shows how to calculate the range of the numeracy test marks?

Circle your answer.

19-11=8 40 -9 =31

© WJEC CBAC Ltd (4362-01)
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Sticky Note

This candidate has some idea of the concept of a stem and leaf diagram but has not grouped the tens values together; instead they have just listed all the values in a vertical line.
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5. A numeracy test is marked out of 40.
The marks for a class of 24 pupils are shown below.

Py 35/ .31’ A" e e o
39 18 27 3¢ 25 A 5
a2 e 4{ A7 19
(@ Represent the marks for the class in a stem and leaf diagram.

0[7,5.,9%,
3.,9,5/10/1,%,3,7

l—l— ) 7‘ QO BI._'Z-/ ‘,5;9\
L29Q, 6,5, =l
Lol O,

=

[2]

(b)  Which of the following shows how to calculate the range of the numeracy test marks?

Circle your answer

19-11=8 40-9 = 31 40-3=37 ) 40-24-15

© WJEC CBAC Ltd. (4362-01)
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Sticky Note

This candidate has confused a single stem and leaf diagram with one that compares 2 sets of data. They have also written the tens values incorrectly in the stem.










5.

A numeracy test is marked out of 40.
The marks for a class of 24 pupils are shown below.

11 24 35 31 9 17 27
39 18 27 5 34 25 21
36 12 12 7 40 22 3

(@) Represent the marks for the class in a stem and leaf diagram.

(b) Which of the following shows how to calculate the range of the numeracy test marks?

Circle your answer.

19-11=8 40 -9 = 31 40-3=37

23
15
19

40-24=16

[2]

[1]
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5. A numeracy test is marked out of 40.
The marks for a class of 24 pupils are shown below.

i%/ %’& @KJ% j%%

(@ Represent the marks for the class in a stem and leaf diagram. [2]

v 2.5 .4 5,7

4282

-

Kem =
W/
(b)  Which of the following shows how to calculate the range of the numeracy test marks?
Circle your answer. [1]
19-11=8 40 -9 =31 40-3=37 40-24 =16
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Examiner
5. A numeracy test is marked out of 40. S
The marks for a class of 24 pupils are shown below.
(@ Represent the marks for the class in a stem and leaf diagram. [2]
Sx‘ BAA i 1 ot @
é : S 7 A
| fiilila"l'/\:
’ " ‘) - a ] ) |
2 ‘,’L\S“i“\Sai,'\ {w\l
3) n’!l\iﬂ&“!%f‘ﬁ \
L j O
i
Kem =
v
(b)  Which of the following shows how to calculate the range of the numeracy test marks?
Circle your answer. 1]
19-11=8 40-9 = 31 40-3=37 40-24 =16
3
Turn over.[L—




Sticky Note

This candidate has missed out 2 values from the stem and leaf diagram. The candidate should also write 0 in the first part of the stem.
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Examiner

(b) On the same Sunday morning, another ice-cream van, Cameron’s Cones, sold 90 ice

creams.
Of these 90 ice creams, 18 were chocolate flavour.
Who sold the higher proportion of chocolate flavour ice creams?

You must show your working. [5]
Loazus Tees ?. dotad SO0 Z "7 D
L 10 chocolode e
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(b)) On the same Sunday morning, another ice-cream van, Cameron’s Cones, sold 90 ice

creams.
Of these 90 ice creams, 18 were chocolate flavour.

Who sold the higher proportion of chocolate flavour ice creams?

You must show your working. @ [5]

A e e M, e
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Sticky Note

This candidate did look at the proportion of chocolate ice-creams but rather than writing the proportion as a fraction eg 18/90, the candidate has calculated 90/18. This way of looking at the proportion has then led the candidate to interpret their answer incorrectly.
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(b)) On the same Sunday morning, another ice-cream van, Cameron’s Cones, sold 90 ice

creams.
Of these 90 ice creams, 18 were chocolate flavour.

Who sold the higher proportion of chocolate flavour ice creams?

You must show your working. [5]
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Turn over.
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(b) On the same Sunday morning, another ice-cream van, Cameron’s Cones, sold 90 ice
creams.
Of these 90 ice creams, 18 were chocolate flavour.
Who sold the higher proportion of chocolate flavour ice creams?
You must show your working. [5]

© WJEC CBAC Ltd. (4362-01) Turn over.




Sticky Note

This candidate has looked at the proportions of chocolate ice-creams but has not interpreted the size of the fractions correctly. If the candidate had written the fractions in their simplest form, they may have interpreted them correctly.






(b)

13

On the same Sunday morning, another ice-cream van, Cameron’s Cones, sold 90 ice
creams.

Of these 90 ice creams, 18 were chocolate flavour.

Who sold the higher proportion of chocolate flavour ice creams?

You must show your working.
. \
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(b) On the same Sunday morning, another ice-cream van, Cameron’s Cones, sold 90 ice

creams.
Of these 90 ice creams, 18 were chocolate flavour.
Who sold the higher proportion of chocolate flavour ice creams?

You must show your working. [5]

10 chocolode e

o F |
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Sticky Note

This was a very common misconception by candidates. Instead of looking at the proportion of chocolate ice-creams, candidates actually subtracted to look at the difference and hence made the wrong decision of who sold the highest proportion of chocolate ice-creams.






6(b) Lizzy’s 1ces 12/72 or 12:72 or 12/72 »x 100 or
60/360 or 12/72 x 360 or 72 + 12
l/oorl:6orles..%or6l oro
Cameron’s cones 18/90 or 18:90 or 18/90 x 100 or
1890 » 360 or 90 + 18
1/50r1:50r20%o0r 72" or 5
Cameron’s cones sold the highest proportion of cones

M1

Al
M1

Al

If calculations for Cameron’s cones is in degrees,
accept sight of 60° for Lizzy’s Ices in (a) for M1 A1

Dependent on M1







(b) On the same Sunday morning, another ice-cream van, Cameron’s Cones, sold 90 ice

creams.
Of these 90 ice creams, 18 were chocolate flavour.
Who sold the higher proportion of chocolate flavour ice creams?

You must show your working. [5]











